Assignment 5
5a1.1.  Calculate the impedance (XR)  of R = 100    at  f = 6 hz, 60 hz,  and 600 hz.

5a1.2.  Calculate the impedance (XC)  of C = 100 F at  f = 6 hz, 60 hz,  and 600 hz.

5a1.3.  Calculate the impedance (XL)  of L = 100 mH at  f = 6 hz, 60 hz,  and 600 hz.

5a2.1.  Draw a phasor diagram for VR and IR for a R = 100 if the VR = 170cos(260t).

     If   Vo =170 volt, what is the value of  Io?

5a2.2.  Draw a phasor diagram for VC and IC for a C = 100 F,if the VC = 170cos(260t).

     If   Vo =170 volt, what is the value of  Io?

5a2.3.  Draw a phasor diagram for VL and IL for a L = 100 mH, if the VL = 170cos(260t).

     If   Vo =170 volt, what is the value of  Io?

5b1.1
 Calculate the resonant frequency, fo , for series RCL circuit, where 
             R = 10   , C = 1 F and L = 100 mH.

5b1.2.   Calculate the total impedance Z for above circuit for   = 2525 rad/sec     ( f = 525 hz).

5b1.3.  For the bove mentioned series RCL circuit, if V = 120cos(2525t).

     Given  Vo =120 volt, what is the value of   Io = Vo/Z ?
     What is the value of phase angle between the voltage and current phasor?
     Draw a phasor diagram to illustrate various phasors for this RLC circuit.

